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1. UIRADER (Bfr:M)
E B TEHE|MIELS|FTERE| RS 5B (LEIERE T
1 8iB% 350,000 0] 350,000] 350,000 0
1 8Bx 350,000 0| 350,000 350,000 0|FHHSNEIBE 350,000
2 BENA 200,000| 149,600| 349,600| 349,600 0
1 BB 200,000| 149,600 349,600 349,600 0| BRI R/N—T « —ShE 349,600
3 ¥ A 1,000 14,000  15,000( 15,000 0
1 # A 1,000 14,000 15,000[ 15,000 0| EIRSS/ \—F « —BIlEIE RIS 15,000
4 FHE 0] 90,000/ 90,000 90,000 0
1 Sis® 0| 90,000/ 90,000 90,000 0|BRHRBRICKT D5 HE 90,000
& &t 551,000| 253,600 804,600| 804,600 0 804,600
2. XHDEB (Bfz:[)
158 TEHE|MIELS|TEIREE| RS 5B (LEIERE w2
1 =ZEE 36,000| A 16,520] 19,480 19,480 0
REE 36,000] A 16,520 19,480 19,480 O|FBIMEBRAIER 11,880
BERHE 4,600
HmERZR/N—T « —SE 3,000
2 SHE 95,000] A 51,075 43,925  29,394| 14,531
1 E¥B 95,000f A 51,075| 43,925  29,394|  14,531|tDFEAN 10,040
U A ETHEEE AR 200
R 1,980
EEREAR 17,174
(NS—B#f. TAE. #HE%H)
3 SBEE 420,000| 321,195 741,195| 741,195 0
1 FBE= 10,000| A 10,000 0 0 0
2 SBEH= 380,000| 61,195 441,195 441,195 0|FBEREHLL 40,000
BRI/ —F « —B%E 401,195
3 LIRE= 30,000] 270,000 300,000 300,000 0|D YU ~ERER 300,000
8 § 551,000| 253,600| 804,600 790,069 14,531 790,069
IR A DER 804, 600
X HDE 790. 069
T%%8 14,531H TREE 14, 531AIZDOWTIX., FRIOFEANRHELET,




